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SUBJECT 
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Q9 Q10 

3 4 

Q20 

3 

SECTION B 

Q29a& 

b) 

1 3 3 

plant reproductive system 

3 3 3 

human male reproductive 

system 

4 4 

4 

Q29c) Part Y stores the male reproductive cell for fertilisation to happen, where 

the sperm fuses with the egg. 

Q30a) I agree. After adding liquid T, the cell shape did not change. Plant cells 

have a cell wall, which fixes its shape. Therefore, A is a plant cell. 

Q30b) The cell membrane of B allowed liquid T to be absorbed and therefore, 

cell B became bigger. 

Q30c) Cell B would increase in size.

Q31a) Insect A would transfer the pollen grains from the anther to the stigma of 

the same species of plant. 

Q31 b) Fruit E. The flower of plant C has many ovules. The ovules when fertilised 

would become seeds. As C has many ovules, the fruit would have many 

seeds. 
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Q31c) Plants produce many seeds to increase the chances of the seeds 
germinating into plants. 

Q32a) Set-up F. The plant photosynthesises and gives out oxygen. F ungi only 
respires and takes in oxygen. 

Q32b) Carbon dioxide 

Q32c) The plant jn set-up E could not photosynthesise as there was no carbon 
dioxide left to produce sugar and therefore died. 

Q33a) The temperature in D would be higher as air is a poor conductor of heat. 
The water will lose heat slower to the surroundings. 

Q33b) C 

Q33c) Arrows pointing outwards from water 

Q34a) The blood at E contains more oxygen than the blood at F. 

Q34b) The head uses oxygen and gives out carbon dioxide to release energy for 
our activities. 

Q34c) Oxygen is taken in by the lungs and transported to all parts of the body. 

Q34d) Part S. The small intestine further digests food into simpler substances 
and is ready to be transported in the blood stream. 

Q35a) 
� EC£; 

�B c7 

Q35b) There was an open circuit at E as the wires are not connected to E, 
hence, current was unable to flow through and light up the bulb. 

Q35c) 
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Q36a) G: 600, 0 
F:600,550 
H:600,200 
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Q36b) Light travels in a straight line. 

Q36c) Place cardboard closer to screen. 

Q37a) Condensation 

Q37b) Tray T is cooler than Tray S, hence water will condense faster on T, so 

more water was collected in R. 

Q37c) Add more ice on the tray. 

Q38a) Buoyancy OR ability to float or sink 

Q38b) Material Y. Y floats while X and Z sinks. This allows the wearer to float on 

water surface, so the wearer can breathe and would not drown. 

Q39a) The bowls and plates have very little exposed surface area to the 

environment which reduces the rate of evaporation of water. 

Q39b) Place them further apart. Put them under the Sun, 

Q40a) The plastic strip is an insulator and current cannot flow through it, making 

it an open circuit. Hence bulb will not light up. 

Q40b) Extend length of plastic strip. When the mirror is not fully closed, the metal 

ball will still be in contact with the plastic strip, so bulb would not light up. 
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